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AbstractAs of the late 1990s, public spending on education in the U.S. comprised approximately 7.1%
of GDP; about 60% of that support was directed at K-12 education and the remainder at post-
secondary (college) education. This paper investigates the output and welfare implications of





at least partially intended to increase enrollment.5











of generation t with an index higher than or equal to ı̂t+1 will be college educated and specifically
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rates are central to any discussion of college subsidies and output is often taken as a crude indicator

of welfare. Second, when we address welfare issues in Section 3.2, we demonstrate that welfare is

conveniently expressed as a function of Y and ı̂.



into equation (9). It is straightforward to show that ∂Y
∂ζg



will be finite. An implication is that when total government education spending is small there is
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Figure 2: Output maximizing share of government education spending devoted to college subsides
(i.e. optimal ζs

ζ)
) as a function of �τ .

total income as the sum of income earned by all individuals. Income earned for specific skill is

calculated as the di�erence in the mean wage paid to specifically skilled (college-educated) and to

generally skilled (less than college-educated) workers multiplied by the number of skilled workers,

producing a value of � = 0.= 0



such a way that a larger share of tuition is covered by government. Stated di�erently, if government

acts to maximize output, # will rise with �τ .



equation (10)). Since ı̂ does not depend on �g, there is no e�



3.2.2 Changes in specific human capital subsidies







Among these more skilled agents, the preferred level of subsidies depends on ability. In Figure 3,

the more able prefer lower subsidies. This relationship holds when � and µ2 are su!ciently small.

Otherwise the relationship is reversed.27 Specifically-skilled agents benefit equally from tuition



subsidized. If �τ



�s increase with �τ . Because an increase in �s







quality of K-12 education is a determinant of the return on a college education.









of the derivative gives sign
³

∂U
∂ζs

´
= sign (Z3) where

Z3 ≡ 2�2 (2 +(



which is less than zero. Since sign
³

∂U
∂ζs

´
= sign (Z3) this means that all individuals prefer �s to

be smaller than full subsidization.

Proof of Proposition 4. Consider the first item in the proposition for a generally-skilled agent.
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[21] Glomm, G. and M. Kaganavich, 2003, “Distributional e�ects of public education in an economy
with public pensions,”


